
1

1

1

1

2

1

1.5275

P = 1.5275 x 6

   = 9.17..

Pscale = 9.17/9.17

            = 1

        a(0) = 1

0.5774

1.5275 x 0.3779

0.2182

0.5744 x 0.3779

P = 0.5774 x 18

   = 10.39..

Pscale = 10.39/9.17

            = 1.13..

     a(1) = 1

P = 0.2182 x 54

   = 11.78..

Pscale = 11.78/9.17

            = 1.28..

     a(2) = 1

P = 13.36

Pscale = 1.45..

     a(3) = 1

P = 15.15

Pscale = 1.65..

     a(4) = 2

L = 7

Lscale = 1

L(0) = 1

L = 18.52

Lscale = 2.64..

L(1) = 3

L = 49

Lscale = 7

L(2) = 7

L = 129.64

Lscale = 18.52..

L(3) = 19

L = 343

Lscale = 49

L(4) = 49

Peano-Gosper Curve
Gosper Island


